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Full Marks : 100

Pass Marks : 30
Time : Three hours

The figures in the margin indicate full marks
g for the questions. e
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Part I (% -oi)

Q. No.1 @-f) carries 1 mark each ‘ 1%6="6
Q. No. 2 - 7-carries 2 marks each ' %6 =12
Q. No. 8 -12 carries 4 marks each 4x5 = 20
Q. No. 13 & 14 carries 6 marks each 6x2= 12
‘ ' ~ Total = 50
Part II (¥ -=1)
Q. No. 15 (@~f) carries 1 mqu each | 1x6= 6 |
Q. No. 16 - 21 carries 2 marks each .. 26 =12
" Q. No. 22 -26 carries 4 marks each  a5=20
Q. No. 27 & 28 carries 6 marks each : Co6x2=12
' Total = 50

Total (Part I & I): 50 +50 =100
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Can there be some fixed cost in the long run? Justify your answer.
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11. Explain two characteristics of perfectly competitive market. | OR/SN
o . o Give the meaning of Total Fixed Cost (TEC) and Total Variable Cost
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17. What is Personal Disposable Income (PD1) ? ) | L |
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18. Distinguish between demand deposits and time deposits 1“ consume (mpc) is 0-8, find out the level of aggregate consumption.
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